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SAEHAE 22l 273,000 20,000 253,000
201 L2 AY| 3,000 0 3,000
02 2224l 3,000 0 3,000
OSEHUAME AL el 3,000
401 A& BIZ 200 270,000 20,000 250,000
01 Al&HI 270,000 20,000 250,000
O&dlalE Zhl 270,000
— =253 AT g L AL HES 250,000
—EE3ATHAE HIDIE AlM 20,000
HY 2SI (SR HD) 176,064 86,260 89,804
= 33,876
[ 142,188
ClARAH|(SXIE 1) 99,344 0 99,344
= 33,876
= 65,468
QIHARHH|(SEAtHIZ2IAL) 99,344 0 99,344
= 33,876
= 65,468
101 21 d| 84,591 0 84,591
= 33,876
= 50,715
03 SR (RIHL) 22X 84,591 0 84,591
OSEAtellZ2l AL e124d| 84,591
=Jl23 2,658,510& x2F 123 63,805
= 32,316
[ 31,489
— &AL+ Y 130,000 2 *12& 3,120
= 1,560
= 1,560
—AZ2He|=E
17,2102 10A| 2H+2H * 122 4,131
—HEESHI 2,658, 5103 *60%*2 B +23| 6,381
— I &M 91,8003 * 10 x2H 1,836
—E&ZHEYEZ 2,659,000 x2H 5,318
4 HAZRE3S 14,753 0 14,753
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Cel: A HH|(SXF2DL) (CHe: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
4 R (RIHA)22N BEESRES S 14,753 0 14,753
O4tEs S 14,753
—=bd= 241,830 2 ~12& 5,804
—22EE 281,340 2H 122 6,753
—0NE MHES 91,4003 2 * 122 2,1%
=34 76,720 86,260 29,540
JlE2ZHI(sX018E) 41,020 55,060 14,040
201 er23 | 19,920 24,960 25,040
01 At2teltl 19,920 24,960 A\5,040
OBN2Y Yur+BH|
1,200,000& 122 14,400
OZN=g Sl 8,000& x23& *304 5,520
202 04| 16,300 20,200 A3,900
01 =LHOLI 16,300 20,200 23,900
OZA2g o4l 20,0003 x23H 5 2,300
O=LH04HI 20,0003 x7E*100! 14,000
203 HE=AH] 4,800 9,900 25,100
MU A2 LRFAI 4,800 6,600 1,800
SEAESYR=A 400,0002 12& 4,800
J2BH(H=SHE) 7,200 7,200
202 04| 7,200 7,200
01 2K 7,200 7,200
O=U08l 20,0002 3+ 1202 & 7,200
Jl23HI(SE=A2RIE) 16,500 12,000 4,500
202 04| 16,500 12,000 4,500
01 SLHoIH 2,100 0 2,100
O=U ol 70,0002 x6H +53] 2,100
02 A0 14,400 12,000 2,400
OZA04H| 200,000 6 * 12& 14,400
I =2ZHI(ZAL25HE) 12,000 12,000 0
202 O4H| 12,000 12,000
01 2L A 12,000 12,000
O=U048I 200,000 x5« 128 12,000
HWRes(SXFAMY) 1,561,715 2,337,553 AT75,838
WA XIE 630,016 583,400 46,616
o=2g0l= SEH d&= 630,016 583,400 46,616
701 JIEtRI HSHES 630,016 583,400 46,616
01 JIEt=I AN ES 630,016 583,400 46,616
O2d=23II=SEH dES 630,016
L SPNES 931,699 1,754,153 N822,4%4
= - £Hl Ex3 gte 931,699 1,754,153 N822,4%4
802 grat=JIEt 931,699 1,754,153 N822,4%4
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&el: 28XE EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
01 = nEx3ttet= 826,275 1,440,491 N614,216
020228 HAtAIE &X XI& 32,000
02022 DZLHI AHAF oHE Xl 2SI 8,300
02023 XD XNES A MBI ASXHAFY 1,525
OFENSAL XA 1,677
O2022E JI=MEZ0i (4, dHat, ZMS0) 634,015
OMASEEAUEIA 143,258
0202 FAAHE d=e ZADIE K 5,500
02 Al - EHIEXSEtet= 105,424 313,662 A208,238
02023 ZAAIE &X1 XI# 16,000
020228 NASE st BlEd 12,374
o228 MAS H YetEdls N 1,200
O2022@ =g =34 2X2eldl X 300
o202 =g=3X4 2IzHl A& 1,200
O20223 &d Hol+=(6.25) 56,500
O202d 3 Hol=2 () 2,200
O202d 3 dol=g(d22d |F) 5,300
020228 At S X E2dH 29 X 8,750
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